
[image: image1.png]01] [101] [02] [102

- 1006 Y Y -
1002 @ ] 1005 1003
a <13 1001E1 “9> =
15 118 19 103
14 100fE6 7 = 5 ‘E 04
B 16 21 r

113> 1001E3 <05
= 1001E2 =
13 1001 105]

1008a B > 1009a

T = 1a9] [49 k ‘ 123 [23 = T
‘ Up ‘ 112 1008 1009 06 H% ‘

=

[
[
b
—
Q
o
o8}
(9]
)
G

il

- = = . —
mam| 1910 | 1017 1009;;,%% 1013 | 71 i —
A 44 39 —

46| [1ag|[5] 7 f 8 —

J —

4 40 —

1004 —

1015 0 ‘j 1012 —

JRAEETT ‘ - ——

42 — 4 —

= door number 12-13-2012




	[image: image2.png]



	SMITHWICK THEATER
FOOTHILL
	Building

1000



[image: image2.png]